iLU: Isi moriarsa didiu orsencha
L: Ess{ii moriarsa di— olsenchai.
Eg: 1Is 1 meo riar sa dib or senga

T: Isi moriarsa di— or senc-—

. 3
5 "Is 1 mo r?ar—sa didiu," ol Sench?!
e ]
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LU: in caurathmir ucut olse dofodail fdénsldg uile innocht 7
techt immi iarsudiu irréir nailella meic mdgach ar bid aingcess
laultu indalso dogledd manibrethaigther hicruchnaib.

L: ancaur— uc— ¢l .ui. do fodail fonslo— nuli andocht 7 techt
immi arsuidiu arer nailella m— mag- ar bid aingeces laa huli-
andalso dobrethug— no do gleod manibrethaicht- i cruachn-—.

Eg: in cauratmir uccot ol se dofad- fén sl- uile anog— 7 tec-—
imie iarsuid— irreir nailella m— magach ar bid ainces la ult—- an
dalso do gleod mani braithaigter i cruachn—

T: in cur— ucut olse do fog- fon sl- uile inocht ocus techt imme

iarsuidhiu areir nailella mac mag— arbid aingces lahult- indalso
doghleod. maine brethaigh- icruachn—.

¥l
"in caurathmir ucut," ol sé, "do fodail £o6n SlégAuile

innocht 7 techt immi iar suidiu 1 rréir nAilella meic Mﬁgach, ar //di
bid aingcess la Ultu in ddl so do gledd mani brethaigther 1

Cruvachnaib.”
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LU: Fedailter iarsuidiu biad 7 lind doéib 7 tairmchell ddil tenid
led 7 gabsus meisce 7 bdtarfailte.

I.: Fodailter iersuidi biad 7 lind deoib 7 tairmcellai dail tenidh
leo 7 gabais mescai 7 bat— failtich

Eg: Fodail- i suidiu biadh 7 lind dib 7 tairmcell dail tened leo
7 gablilleg.] 7 batar failte

T: Fogailt- iar suidhiu biadh 7 1lind doib 7 tairmcell dail
teined léo 7 gabsus meisci 7 bat- failte.

i
Fo-ddilter iar sudiu biad 7 lind déib[ 7 tairmchell [ ;D

T
ddil tenid leéj 7 gabsus meisce{ 7 bdtar failte. r
. ,
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LU: Briccriu dane 7 arigan inagrianan.
L: bric—~ da—- inagrianan 7 arig-—
Egq: brlilleg.] 7 (illeg.] rigan ina ngrianan

T: Bric— do-~ 7 arighan inangrian

Bricriu dano 7 a rigan ina %@rianan.
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